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ZOOLOGY  
 

1. Haemoglobin A, which is the principal haemoglobin in adult human consists of : 

 (a) Two β chains and two α chains (b) Only two α chains 

 (c) Two β chains and one δ chain (d) Two δ chains and one α chain 
 

2. What happens when Red blood cells are kept in hypotonic solution ? 

 (a) Cells maintain a normal condition (b) Cells shrink 

 (c) Cells become flaccid (d) Cells swell and eventually burst 
 

3. Interferon reacts against which of these ? 

 (a) Virus   (b) Bacteria 

 (c) Fungus    (d) Snake Venom 
 

4. Which of the following is not a function of liver ?   

 (a) Stores iron from the haemoglobin of red cells. 

 (b) Regulation of blood sugar level. 

 (c) Forms heparin, a substance which prevents blood coagulation. 

 (d) It secretes bile juice which is stored in the gall bladder. 
 

5. Which one of the following is not correctly matched ?  

 (a) Olfactory nerves – Sensory 

 (b) Oculomotor nerves – Motor 

 (c) Trigeminal nerves – Mixed 

 (d) Ophthalmic nerves – Motor 
 

6. Lacteals of the intestinal villi receive : 

 (a) Fatty acids and glucose (b) Glucose and Amino acids 

 (c) Amino acids and Fatty acids (d) Glycerol and Fatty acids 
 

7. The hypothalamic releasing factors (hormones) reach the anterior pituitary gland by way of  

 (a) Axons   (b) Lymphatic pressure 

 (c) Blood vessels    (d) Tissue fluid 
 

8. Which one of the following has highest metabolically available energy ? 

 (a) Carbohydrate   (b) Protein 

 (c) Fat    (d) Fresh fruit 
 

9. Intrinsic factor is secreted from  

 (a) Oxyntic cells   (b) Goblet cells 

 (c) Argentaffin cells  (d) Chief cells 
 

10. Plasmid that impart drug resistance is called as  

 (a) Col - Plasmid   (b) F - Plasmid 

 (c) R - Plasmid    (d) None of the above 
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     
 

1.  A,           ,    
(a)  β   α   (b)   α   

(c)  β    δ   (d)  δ    α  
 

2.               ? 

 (a)          

 (b)       

 (c)        

 (d)          
 

3.       ? 

 (a)  (b)  (c)   (d)   
 

4.            
 (a)           
 (b)           

 (c)   ,         
 (d)       ,         
 

5.          ? 

 (a)   –   (b)   –  

 (c)   –  (d)   –  
 

6.          
 (a)      (b)      

 (c)       (d)     
 

7.    ()           
 (a)  (b)   (c)    (d)   
 

8.           ? 

 (a)  (b)  (c)   (d)   
 

9.   ( )     
 (a)     (b)     

 (c)    (d)    
 

10.   -         
 (a)  –    (b)  –  

 (c)  –     (d)      
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11. Which one of the following immunoglobulins is present in breast milk and tears ?  

 (a) IgA   (b) IgD 

 (c) IgE    (d) IgG 
 

12. Out of the following, in which animal stoma chord is present in the head region ? 

 (a) Herdmania   (b) Balanoglossus 

 (c) Salpa    (d) Doliolum 
 

13. Fish Chimaera belongs to which sub-class ? 

 (a) Selachii   (b) Holocephali 

 (c) Sarcopterygii    (d) Actinopterigii 
 

14. Cephalochordates have been regarded to be phylogenetically related to non-chordate 

groups, which are  

 (a) Annelida, Mollusca and Echinodermata 

 (b) Helminthes, Annelida and Mollusca  

 (c) Arthropoda, Helminthes and Annelida 

 (d) Arthropoda, Helminthes and Mollusca 
 

15. Ganoid scales are found in which of the following fish ? 

 (a) Polypterus   (b) Amia 

 (c) Salmo    (d) Belone 
 

16. Which of the following is regarded as living fossil ?  

 (a) Calotes   (b) Hemidactylus 

 (c) Sphenodon    (d) Archaeopteryx 
 

17. Uropygial gland of avian skin is responsible for  

 (a) making the feathers waterproof  

 (b) producing characteristic recognition scent 

 (c) producing ergosterol for synthesis of vitamin D 

 (d) All of the above 
 

18. Avian foot is covered by : 

 (a) Dermal scales   (b) Feathers 

 (c) Dermal plates    (d) Epidermal scales 
 

19. In metatherians, dentition is : 

 (a) Monophydont, Thecodont and Heterodont 

 (b) Diphydont, Thecodont and Homodont 

 (c) Polyphydont, Acrodont and Heterodont 

 (d) Monophydont, Acrodont and Heterodont 
 

20. Mammalian occipital condyles develop from : 

 (a) Exoccipitals   (b) Basioccipitals 

 (c) Alisphenoid    (d) Orbitosphenoid 
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11.                ? 

 (a) IgA (b) IgD (c) IgE  (d) IgG 
 

12.   ,              

 (a)  (b)  (c)   (d)  
 

13.        ? 

 (a)   (b)   (c)    (d)   
 

14. , - ,        -      ? 

 (a) ,    (b) ,     

 (c) ,     (d) ,    
 

15.            ? 

 (a)  (b)  (c)   (d)  
 

16.          ?    

 (a)  (b)  (c)   (d)  
 

17.            

 (a)       

 (b)        

 (c)            

 (d)    
 

18.    ()     

 (a)    (b)   (c)     (d)    
 

19.       

 (a) ,    (b) ,     

 (c) ,    (d) ,    
 

20.         

 (a)    (b)    

 (c)      (d)   
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21. Nasal bones of frog are :  

 (a) Replacing bones  (b) Cartilage 

 (c) Membrane bones  (d) Ossified cartilage 
 

22. In Varanus, typical cervical vertebra is : 

 (a) Procoelus   (b) Acoelus 

 (c) Opisthocoelus   (d) Amphicoelus 
 

23. ‘Wish bone’ of fowl is formed from the fusion of : 

 (a) two clavicles   (b) Coracoid and Scapula 

 (c) Coracoid and Clavicle (d) Coracoid and Interclavicle 
 

24. During evolution of mammals, the articular bone of reptilian lower jaw was transformed 

into : 

 (a) Columella auris  (b) Incus 

 (c) Malleus    (d) Tympanic 
 

25. The verbral formula of rabbit is :  

 (a) C7 T12 L6 S4 Cd16  (b) C6 T13 L7 S4 Cd16 

 (c) C7 T13 L6 S4 Cd15  (d) C8 T12 L6 S4 Cd15 

 

26. In metatherians, atlas vertebra is : 

 (a) Absent   (b) Present but incomplete 

 (c) Present and complete (d) None of the above 
 

27. In human, fertilization most often occurs in  

 (a) Vagina   (b) Oviduct 

 (c) Uterus    (d) Cervix 
 

28. Allantois of foetal membranes develop from : 

 (a) Extra-embryonic mesoderm and endoderm 

 (b) Extra-embryonic ectoderm and mesoderm 

 (c) Extra-embryonic ectoderm and endoderm 

 (d) Extra-embryonic mesoderm only 
 

29. Two or more species of same genus present in same geographical area are called : 

 (a) Sibling species  (b) Type species 

 (c) Sympatric species  (d) Allopatric species 
 

30. Madreporite is absent in : 

 (a) Holothuroidea   (b) Crinoidea 

 (c) Echinoidea    (d) Asteroidea 
 

31. Conus arteriosus is found in : 

 (a) Mammals   (b) Birds 

 (c) Amphibians    (d) Fishes 
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21.         
 (a)     (b)   

 (c)   ( )  (d)   
 

22.         
 (a)  (b)  (c)   (d)  
 

23.   ‘ ’      ? 

 (a)      (b)      

 (c)      (d)     
 

24.               
 (a)     (b)  ()   

 (c)  ()    (d)  ()   
 

25.       
 (a) C7T12L6S4Cd16  (b) C6T13L7S4Cd16  

 (c) C7T13L6S4Cd15  (d) C8T12L6S4Cd15 
 

26.        
 (a)  (b)    (c)     (d)      
 

27.  ,        
 (a)     (b)   ( )  

 (c)      (d)    
 

28.           
 (a) -      
 (b) -     
 (c) -       
 (d)  -    
 

29.                ,   
 (a)   (b)   (c)    (d)   
 

30.     
 (a)  (b)  (c)  (d)  
 

31.      
 (a)   (b)   (c)    (d)   
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32. Small fangs located at the front of maxillae in cobra and krait are : 

 (a) Pseudoglyphous  (b) Solenoglyphous 

 (c) Ophisthoglyphous  (d) Proteroglyphous 
 

33. Rhynchocephalia differs from crocodilia in absence of : 

 (a) Thecodont dentition  (b) Procoelus vertebrae 

 (c) Completely four chambered heart (d) All of the above  
 

34. Which of the following is reptilian character of the monotremata ? 

 (a) Body covered with hair (b) T-shaped interclavicle 

 (c) Pinnae present   (d) Dicondylic skull 
 

35. Middle ear in birds contains : 

 (a) One ossicle   (b) Two ossicles 

 (c) Three ossicles   (d) Four ossicles 
 

36. Northern Blotting is used in : 

 (a) Electrophoresis of single stranded DNA 

 (b) Electrophoresis of denaturated DNA 

 (c) Electrophoresis of RNA 

 (d) Electrophoresis of antibodies 
 

37. When two or more alleles of a gene are maintained in same population, this is called : 

 (a) Co-dominance   (b) Aneuploid 

 (c) Apomixis    (d) Balanced Polymorphism 
 

38. A statistical test for determining whether observed data agree with expected ratio,                   

x2 = Σ [(0 – E)2/E] is called : 

 (a) Standard Deviation  (b) Chi-square test 

 (c) Z-test    (d) t-test 
 

39. A plasmid having a cos site of λ phage is called : 

 (a) Bacteriophage   (b) Cosmid 

 (c) Plasmid    (d) None of the above 
 

40. A group of closely related immunoglobulins are called : 

 (a) Allotypes   (b) Isotypes 

 (c) Idiotype    (d) Genotype 
 

41. A species whose impacts on its community and the ecosystem are large is called : 

 (a) Genotype   (b) Ecotype 

 (c) Keystone species  (d) Paratype species 
 

42. A randomly interbreeding local population is called : 

 (a) Sibling species  (b) Ecosystem 

 (c) Niche    (d) Deme 
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32.                 

 (a)  (b)  (c)   (d)  
 

33. ,       

 (a)        

 (b)       

 (c)   -         

 (d)     
 

34.               ? 

 (a)        (b)   T-     

 (c)       (d)      
 

35.         

 (a)   (b)   (c)    (d)   
 

36.       

 (a)       (b)       

 (c)      (d)     
 

37.                ,     

 (a)  (b)  (c)   (d)   
 

38.           ,  ,  
x2 = Σ[(0 – E)2/E],   ,    

 (a)   (b) -  (c) Z-  (d) t- 
 

39.    λ      ,    

 (a)  (b)  (c)   (d)      
 

40.          

 (a)  (b)  (c)   (d)  
 

41.              ,    

 (a)  (b)  (c) -   (d)   
 

42.          

 (a)   (b)   (c)   (d)  
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43. In the logistic model of population growth equation, 
dN

dt
  = rN 









1 – 
N

K
  , “K” refers to     

 (a) Crude density   (b) Birth rate 

 (c) Fecundity    (d) Carrying capacity  
 

44. A shift in species niche as a result of removal of a competitor is termed as : 

 (a) Competitive exclusion (b) Competitive release 

 (c) Niche overlap    (d) Realized niche 
 

45. Group of species that exploit a common resource in a similar fashion are termed as : 

 (a) Community   (b) Functional types 

 (c) Guilds    (d) None of the above 
 

46. Tropical rain forests are divided into : 

 (a) More than 5 layers  (b) 5 layers 

 (c) 4 layers    (d) 3 layers 
 

47. The higher rates of diffusion and photosynthesis under elevated atmospheric concentration 

of CO2 is termed as : 

 (a) Climate change  (b) Green-house effect 

 (c) CO2 fertilization effect (d) CO2 compensation effect 

 

48. During cell cycle regulation P53 gene product acts as : 

 (a) G1/S checkpoint   (b) G2/M checkpoint 

 (c) M/A checkpoint  (d) All the above checkpoints 
 

49. One of the key functions of smooth endoplasmic reticulum is drug detoxification carried 

out by specialized enzymes called : 

 (a) Hydrogenases   (b) Mixed-function oxigenases 

 (c) Transferases    (d) Reductases 
 

50. During cell division : 

 (a) The total volume of cell stays the same while the surface area increases. 

 (b) The total volume of cell increases while the surface area stays the same. 

 (c) Only surface area decreases. 

 (d) Both surface area and volume of cell increases.  
 

51. The early and late endosomes are developmental stages associated with which cell organelle ? 

 (a) Mitochondria   (b) Golgi apparatus 

 (c) Lysosomes    (d) Rough endoplasmic reticulum 
 

52. Apoptosis involves activation of a series of enzymes called : 

 (a) Phosphodiesterase  (b) Caspases 

 (c) Protein kinases   (d) Phosphatases 
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43.        
dt

dN
 = rN 








−

K

N
  1   “K”     ? 

 (a)   (b)  (c) -  (d) - 
 

44.                
 (a)   (b)   (c)    (d)   
 

45.             ,     
 (a)  (b)   (c)  ()  (d)      
 

46.        
 (a) 5       (b) 5    

 (c) 4      (d) 3   
 

47.   CO2        -      

 (a)   (b) -  (c) CO2    (d) CO2   
 

48.     P53  ,     
 (a) G1/S      (b) G2/M       

 (c) M/A       (d)        
 

49.  ()          -      
   ,      

 (a)     (b) -   

 (c)      (d)  
 

50.      
 (a)       ,         

 (b)              
 (c)         

 (d)           
 

51.            ? 

 (a)    (b)     

 (c)     (d)     
 

52.            
 (a)    (b)   

 (c)      (d)  
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53. Interconversion between relaxed and supercoiled forms of DNA is catalyzed by enzymes  

 (a) Topoisomerases  (b) Telomerases 

 (c) DNA polymerases  (d) RNA polymerases 
 

54. Which gene is often referred to as the “guardian of the genome” ? 

 (a) Rb   (b) P21 

 (c) P53    (d) ATM 
 

55. During meiosis, crossing-over occurs during 

 (a) Leptotene   (b) Pachytene 

 (c) Diplotene    (d) Zygotene 
 

56. Intron removal during the processing of pre-m-RNA involve an RNA-protein complex 

called  

 (a) Proteosome   (b) Spliceosome 

 (c) Both Proteosome and Spliceosome (d) None of the above 
 

57. A small protein that facilitates the degradation of targeted protein by proteosomes is  

 (a) Proteome   (b) SNAP receptor protein 

 (c) Ubiquitin    (d) Ras protein 
 

58. Which of the following disorder is not a recessive gene disorder ? 

 (a) Albinism   (b) Alkaptonuria 

 (c) Colour blindness  (d) Achondroplasia 
 

59. What will be the potential phenotypes in the offspring of parents of blood group B and B ? 

 (a) ¾ A and ¼ O   (b) ¾ B and ¼ O 

 (c) ½ B and ½ O    (d) ½ A, ¼ B and ¼ O 
 

60. Haemophilia-A results due to deficiency of  

 (a) Clotting factor IX  (b) Clotting factor VIII 

 (c) Clotting factor VII  (d) Clotting factor X 
 

61. Autosomal recessive Tay-Sachs disease is associated with which abnormal metabolism ?  

 (a) Carbohydrate metabolism (b) Protein metabolism 

 (c) Protein and lipid metabolism (d) Lipid metabolism 
 

62. Huntington Disease is marked by progressive deterioration of which of the following  

organ ? 

 (a) Cardiac muscles  (b) Frontal lobes of cerebral cortex 

 (c) Liver    (d) Cerebral hemisphere 
 

63. Which of the following is metachromatic stain ? 

 (a) Leishman   (b) Wright’s  

 (c) Giemsa    (d) All of the above 
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53.                 ? 

 (a)  (b)  (c)    (d)   
 

54.    “  ”       ? 

 (a) Rb (b) P21 (c) P53  (d)  
 

55.      ( )     ? 

 (a)  (b)  (c)   (d)   
 

56. -m-RNA         -       
 (a)    (b)   

 (c)      (d)      
 

57.              
 (a)    (b) SNAP    

 (c)     (d)  (Ras)  
 

58.            ? 

 (a)  (b)  (c)   (d)   
 

59.  -    B  B ,           
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60. -A    
 (a)   IX    (b)   VIII     
 (c)   VII     (d)   X    
 

61.   -        ? 

 (a)    (b)    

 (c)      (d)   
 

62.              ? 

 (a)   

 (b)      ( )   

 (c)    

 (d)   
 

63.         ? 

 (a)  (b)  (c)   (d)   
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64. The example of sex hormones secreted from ovary are  

 (a) FSH and LH   (b) FSH, LH and Progesterone 

 (c) Progesterone and Estrogen (d) FSH, LH, Progesterone and Estrogen 
 

65. Fixative used to fix specimen for electron microscopy is  

 (a) Glutaraldehyde  (b) Formaldehyde 

 (c) Osmium tetra-oxide  (d) All of the above 
 

66. In Immuno-fluorescent technique the measurement is done by  

 (a) Fluorimeter   (b) Radiometer 

 (c) Beta counter    (d) Gamma counter 
 

67. Which type of light source is used in fluorescent microscope ? 

 (a) Ordinary light with filter (b) UV bulb 

 (c) Infra-red bulb    (d) Halogen bulb 
 

68. In ELISA the key reagent is  

 (a) Enzyme   (b) Antigen 

 (c) Antibody    (d) Enzyme conjugate 
 

69. Which method is used to separate charged molecules of a cell ? 

 (a) Centrifugation   (b) Electrophoresis 

 (c) Chromatography  (d) Filtration 
 

70. GISH means 

 (a) Genomic in-situ hybridization (b) Genetic in-situ hybridization 

 (c) General in-situ hybridization (d) Growth in-situ stimulating hormone 
 

71. Humans have 23 pairs of chromosomes which undergo independent assortment during 

meiosis. How many genetic types of sperms are expected to be produced by a person ?  

 (a) 246   (b) 223 

 (c) 222    (d) 22 
 

72. A protein containing 500 amino acids will require a gene of atleast how many base pairs 

long for its synthesis ?  

 (a) 1000   (b) 2000 

 (c) 1500    (d) 500 
 

73. The term “New Systematics” was given by  

 (a) Bateson   (b) Linnaeus 

 (c) Whittaker    (d) Julian Huxley 
 

74. ATP is a free nucleotide containing : 

 (a) Deoxy-ribose sugar  (b) Hexose sugar 

 (c) Ribose sugar    (d) None of the above 
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64.        

 (a) FSH  LH   (b) FSH, LH   

 (c)     (d) FSH, LH,    
 

65.        ()           

 (a)    (b)   

 (c)    (d)   
 

66. -        

 (a)   (b)   (c)     (d)    
 

67.             ? 

 (a)  ,    (b) UV   

 (c)      (d)   
 

68. ELISA      

 (a)  (b)  (c)   (d)   
 

69.               ? 

 (a)   (b)   (c)    (d)   
 

70. GISH    ? 

 (a)  -  (b)  -   

 (c)  -   (d)     
 

71.   23       -           
            ? 

 (a) 246 (b) 223 (c) 222  (d) 22 
 

72.  ,  500   ,              
  ? 

 (a) 1000 (b) 2000 (c) 1500  (d) 500 
 

73. “  ”     ? 

 (a)  (b)  (c)   (d)   
 

74. ,     ,     

 (a) -  (b)    

 (c)      (d)      
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75. Hamburger’s phenomenon is also called  

 (a) Chloride shift   (b) H2CO3 shift 

 (c) Antigen shift    (d) Proton shift 
 

76. Which one of the following group of animals are regarded as highly endangered by    

IUCN ?  

 (a) Bony fishes   (b) Birds 

 (c) Annelida    (d) Amphibia 
 

77. The original source of new allele of genes is  

 (a) Natural selection  (b) Genetic drift 

 (c) Mutation    (d) Gene flow 
 

78. To observe biological material under ESR spectrophotometer, they should be  

 (a) Frozen in liquid nitrogen (b) Dried 

 (c) Embedded in ice  (d) Embedded in araldite 
 

79. In the fourth stage of S-shaped population growth curve, the population becomes stable 

because  

 (a) the capacity of population to increase is finished. 

 (b) the adults usually die. 

 (c) the mortality becomes almost equal to natality. 

 (d) the resources are finished. 
 

80. The number of species in an ecotone shall be  

 (a) greater than the two adjoining ecosystems. 

 (b) less than the adjoining ecosystems. 

 (c) equal to the adjoining ecosystems. 

 (d) All of the above 
 

81. Which one of the following water-bodies will contain maximum density of plankton ?  

 (a) Rivers   (b) Estuaries 

 (c) Seas and Oceans  (d) Ponds 
 

82. Which one of the following is the most important causal factor of eutrophication ? 

 (a) Calcium   (b) Phosphorous 

 (c) Carbon    (d) Sulphur 
 

83. The act in which an individual decreases its own reproductive potential to benefit another 

individual is known as : 

 (a) Commensalism  (b) Symbiosis 

 (c) Altruism    (d) Agnostic 
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75.     

 (a)       (b) H2CO3       

 (c)        (d)       
 

76.         IUCN        ? 

 (a)    (b)   

 (c)     (d)  () 
 

77.          

 (a)   (b)    (c)   (d)   
 

78. ESR            

 (a)        (b)      

 (c)         (d)        
 

79. S-   -          ,   

 (a)           

 (b)        

 (c)           

 (d)        
 

80.         

 (a)       (b)        

 (c)        (d)   
 

81.             ? 

 (a)     (b)      

 (c)       (d)   
 

82.            ? 

 (a)  (b)  (c)   (d)  
 

83.                ,     

 (a)  (b)  (c)   (d)  
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84. Inherited behaviour is  

 (a) Instinctive behaviour (b) Learned behaviour 

 (c) Imprinting    (d) Taxis 

 

85. Mitochondria may have evolved from  

 (a) Chloroplast   (b) Bacteria 

 (c) Early protists    (d) Archaeans 

 

86. The first organism which evolved on the earth was  

 (a) Chemoautotrophs  (b) Autotrophs 

 (c) Eukaryotes    (d) Chemoheterotrophs 

 

87. Rheumatoid arthritis can be treated by  

 (a) Royal jelly   (b) Honey 

 (c) Pollen    (d) Bee Venom 

 

88. Lac is produced by  

 (a) Female lac insects  (b) Male lac insects 

 (c) Both male and female insects (d) None of the above 

 

89. Bioremediation is the process of  

 (a) Treatment of diseases by organism  

 (b) Culture of micro-organism 

 (c) Cleaning of the environment by organism 

 (d) None of the above 

 

90. Human insulin, “Humulin” is produced by 

 (a) Pig   (b) Bacteria 

 (c) Virus    (d) Cattle 

 

91. A pregnant woman, who has done amniocentesis test, finds an extra Barr body in her 

embryo. The syndrome which is likely to be associated with embryo is  

 (a) Klinefelter’s syndrome (b) Down’s syndrome 

 (c) Turner’s syndrome  (d) Patau’s syndrome 

 

92. Which one of the following amino acid is not found in proteins ? 

 (a) Aspartic acid   (b) Glycine 

 (c) Tryptophan    (d) Ornithine 
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84.     

 (a)   (b)    (c)   (d)  
 

85.       

 (a)    (b)   (c)     (d)   
 

86.          

 (a)  (b)  (c)   (d)  
 

87.          

 (a)    (b)   (c)    (d)    
 

88.       

 (a)      (b)      

 (c)          (d)      
 

89.     

 (a)      (b)       

 (c)        (d)      
 

90.  , “”     

 (a)   (b)   (c)    (d)   
 

91.             -       
       - 

 (a)    (b)    

 (c)      (d)   
 

92.             ? 

 (a)     (b)   

 (c)     (d)  



Series-A 20 SPU-26 

93. The speed of rate of cleavage is inversely proportional to the amount of yolk present in the 

egg is known as  

 (a) Hertwig’s Law  (b) Balfour’s Law 

 (c) Pfuger’s Law    (d) Sach’s Law 
 

94. Lecithin and Cephalin belong to which of the following class ? 

 (a) Glycoprotein   (b) Phosphoglycerides 

 (c) Cerebrosides    (d) Phosphosphingomyelin 
 

95. Right handed DNA helix showing 11 base pairs, which are tilted 20° away from 

perpendicular to helix is : 

 (a) B-DNA   (b) Z-DNA 

 (c) A-DNA    (d) D-DNA 
 

96. The slow block of polyspermy develops in response to the : 

 (a) Release of bindin 

 (b) Formation of the fertilization membrane 

 (c) Spreading of fertilization cone around egg 

 (d) Opening of sodium gates in plasma membrane 
 

97. The embryonic development process in which one type of tissue influences the 

development of the other type of tissue is called : 

 (a) Potency   (b) Competence 

 (c) Induction    (d) Morphogenesis 
 

98. Human spermatozoon has : 

 (a) Two Centrioles  (b) One Centriole 

 (c) Three Centrioles  (d) No Centriole 
 

99. Which of the following statement is not true for complementary DNA (cDNA) ? 

 (a) It can be amplified.  

 (b) It can be used to create complete genetic library. 

 (c) It is produced from mRNA.  

 (d) It can be used as a probe to locate a gene of interest. 
 

100. Most cell types carry their own ID tags in the form of  

 (a) Surface glycoproteins and glycolipids  

 (b) Surface lipoproteins and Phospholipids 

 (c) Clathrins and Phospholipids 

 (d) Spectrins and Clathrins 

__________  
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93.              ,     
 (a)     (b)     

 (c)      (d)    
 

94.            ? 

 (a)     (b)   

 (c)     (d)  
 

95.    ...    ,      20º ( )  
,    

 (a) -... (b) -... (c) -...  (d) -... 
 

96.      ( )     
 (a)       

 (b)       
 (c)            

 (d)        
 

97.   ,               , 
   

 (a)  ()   (b)  ()  

 (c)  ()   (d)   () 
 

98.       
 (a)    (b)    (c)    (d)      
 

99.        ... (c-DNA)      ? 

 (a)        
 (b)      ( )           
 (c)  mRNA       
 (d)     -        
 

100.          (ID)      
 (a)         

 (b)         

 (c)         

 (d)       

____________ 



Series-A 22 SPU-26 

Space For Rough Work /                     



SPU-26 23 Series-A 
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